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U TR
1. J&ARF (RC-40, t=200)

A = 8576 X T7.200 - 1/4 X 7w X 1.000
( V. = 54.68 ™2 X 0.200
2\ f}jbﬁ”ﬁl‘_

A = ( 8576 + 7.351 ) X 0.100 X 2

3. L7 U—Fk (1=100) % ¢ ck=18N/mm’
A = 8.576 X T7.200
X 0.100

( V = 54.68 ™

4, BRI

1/4 X ;X 1.000

1) JEKR
A = ( 8372 4+ 7.147 ) X 1.900 X 2
2) EBXAE
Al 2.968 X 8.372
A2 = 3.030 X 8.372
A3 = 1/2 X ( 2.968 4+ 3.030 ) X 2.093
+ 0.510 X 3.030
A4 = 1/2 X ( 2.968 4+ 3.030 ) X 2.093
+ 0.510 X 3.030
3 NIy bk
Al = ( 0.340 + 0.354 ) X 8.372
A2 = 1/2 X ( 1.757 4+ 1.820 ) X 4.187
- 0.510 X 0.200 X 2
A3 = 1/2 X ( 1.820 4+ 1.740 ) X 4.185
A4 = 1/2 X ( 2.3556 4+ 2.408 ) X 4.211
- 0.510 X 0.200 X 2
Ab = 1/2 X ( 2.408 4+ 2.328 ) X 4.161
A6 = 1/2 X ( 0.340 4+ 0.589 ) X 0.254
+ 1/2 X ( 2.346 + 2.355 ) X 0.508
AT = 1/2 X ( 0.340 4+ 0.589 ) X 0.254
+ 1/2 X ( 2.329 4+ 2.328 ) X 0.508
A8 = ( 0.508 X 0.500 + 0.200 X 0.508
4)  BEEMREZ G
A = 0.300 X 7.107
+ 1/2 X ( 7.107 4+ 7.102 ) X 0.707

2

X 9 = 54.
10.

2

X 9 = 54.
47 ™)

24.
25.

68 m2
94 ™?)

.19 ™2

68 m2

.97 ™2

85
37

.82

.82

XA = 65.

86 m2

.81

. 28
.45

9. 82
9.85

.31

1. 30

X 2) X2

|
o

.91

XA = 43.

73 m2

15 m2
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5)

6)

7)

8)

9)

v
- FEAA
Al = 1/2 X ( 0.738 + 2.949
A2 = 1/2 X ( 0.738 + 3.000
A3 = { 0.738 4+ 1/2 X ( 5
¥ ELL
A4 = 1/2 X ( 0.738 + 3.003
A5 = 1/2 X ( 0.738 + 2.955
A6 = { 0.738 4+ 1/2 X( 5
INVF
- FEAA
Al = 1/2 X ( 0.155 + 0.931
A2 = 0.931 X 1.374
A3 = 1/2 X 0.931 X 0.497
¥ ELL
A4 = 1/2 x ( 0.131 + 0.788
A5 = 0.788 X 1.330
A6 = 1/2 X 0.788 X 0.554
BEEC o
Al = ( 2.000 + 1.400 ) X 0.
A2 = ( 2.100 + 1.500 ) X O.
A3 = ( 2.000 + 1.400 ) X 0.
MRS 51T & D FERR
Al = 0.801 X 7.102
A2 = 1/2 < (. 0.300 + 0.801
A3 = 1/2 X (. 0.300 + 0.801
T4 TN KD PERR
- FEAA
Al = 1/2 X ( 2.949 + 3.000
¥ ELL
A2 = 1/2 X ( 3.003 + 2.955

) X 4.
) X 4.

.031 +

) X 4.
) X 4.

.031 +

108 X
160 X
107 X

500
603

5.147 ) } X 0.600

500
403

4.923 ) } X 0.600

. 500

. 500

. 507
. 506

. 609

. 608

.30
. 60

.50

.42
.13

.43

A=

40.

38 m2

.27
. 28
.23

.23
.05
.22

A

(G1)
(G2)
(G3)

w |© = O

28 m2

.73
.15
.73

XA

o (o = O

61 m2

.69
. 28
. 28

XA

25 m2

.81

.81

zA

62 m2
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10) N2 FIT K D PERR
- Fefl
— Al 1/2 X ( 0.102 + 0.609 ) X 0.500 -0.18
— A2 = 1/2 X ( 1.374 + 1.679 ) X 0.609 = -0. 93
— A3 = 1/2 X ( 1.374 + 1.679 ) X 0.609 = -0. 93
— A4 1/2 X ( 0.102 + 0.609 ) X 0.707 -0. 25
- 1Al
— A5 1/2 X ( 0.102 + 0.608 ) X 0.500 -0. 18
— A6 = 1/2 X ( 1.330 + 1.634 ) X 0.608 = -0. 90
— A7 = 1/2 X ( 1.330 + 1.634 ) X 0.608 = -0. 90
— A8 1/2 X ( 0.102 + 0.608 ) X 0.707 = -0. 25
A -4. 52 ™?
11) AP FE
YA = 58.97 + 65.8 + 43.73 + 7.15 + 40.38
+ 3.28 + 261 — 6.25 — 3.62 — 4.52 = 207.59 ™
R AR S
1D PN SN
Al = 12 XL 0262 & 0250 )X 0609 = 016
A2 = 142 x L 0170 0160 > X 0634 = 0610
A3 = 3553 X 0180 4+ 3556 X 0160 = 114
Ad = 12 XL 0250 4+ 0262 )X 0610 = 016
Ab = 12 x{ 0180 4+ 0172 ) X 0630 = 010
A6 =  1/2 x{ 0262 4+ 0250 ) x 0-609 = 016
A7 = 12 x{ 0369 + 0160 ) x 066+ = EEER
A8 = 3550 X 0160 4+ 3552 X 0160 = 114
A9 =  1/2 x{ 0250 4+ 0262 ) x 0609 = 016
A6 = 12 x{ 0410 + 0434 )X 0609 = 026
A7 = 0250 X 0761 4+ 0250 X 0.760 = 038
A9 =  1/2 x{ 0432 4+ 043+ > x 076+
+ 0434 X 0760 = 066
S A= 453 ™
) 17
R =11}
Al = 0262 X 3900 = 102
A2 = 0250 X 4003 = 100
A3 = 12 x{ 0262 4+ 0250 ) x 0600 = 015
——4RY
Ad = 0262 X 4150 = 109
A5 = 0250 X 4,053 = 104
A6 =  1/2 x{ 0262 4+ 0250 ) x 0600 = 015
SA= 442 %2
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3) Lz ¢ o277 I [

177

¢

— L4
= Al = 12 XL 0262 =& 0250 )X 0-609 = =016
— A
= A2 =  1/2 X{ 0.262 == 0.250 )} X 0.608 = 016
A= =0 32 ™*
4y fpdri ooz 1) o WA
= 453 =+ 442 = 0.32 = 8.63 ™
6, kA= 27 U — b (o ck=24N/mm”)
D JEKR
V. o= 8372 X 7.000 X 1.900 - 1/4 Xm X 1.000
X 0.100 X 9 = 111.35™
2) BXAE
V1 = 1/2 X ( 2.968 + 3.030 ) X 2.050 X 8.372 = 51.47
V2 = 3.030 X 8.372 X 0.500 = 12. 68
TV = 64.15 ™
3) /XTIy h
V1 = 1/2 X ( 0.340 + 0.589 ) X 0.250 X 8.372 = 0.97
V2 = 1/2 X { 1/2 X ( 2.346 + 2.409 ) X 4.187
+ 1/2 X ( 2.355 + 2.408 ) X 4.211 } X 0.500
- 0.510 X 0.200 X 0.500 X 2 = 4. 89
V3 = 1/2 X { 1/2 X ( 2,409 + 2.329 ) X 4.185
+ 1/2 X ( 2.408 + 2.328 ) X 4.161 } X 0.500 = 4.94
TV = 10. 80 ™?
4)  EsERE A
vV = 1/2 X ( 0.300 + 0.801 ) X 0.500
X 1/2 X ( 7.102 + 7.107 ) = 1.96 ™
5) U4
- ZEAH
V1 = 1/2 X { 1/2 X ( 0.738 + 2.949 ) X 4.500
+ 1/2 X ( 0.738 + 3.000 ) X 4.603 } X 0.600 = 5.07
-
V2 = 1/2 X { 1/2 X ( 0.738 + 3.003 ) X 4.500
+ 1/2 X ( 0.738 + 2.955 ) X 4.403 } X 0.600 = 4. 96
TV = 10. 03 ™?
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6) NLF
- FEl
Vi = 1/2 X ( 1/2 X 0.155 X 0.065 + 1/2 X 0.931
X 0.392 ) X 0.500 = 0. 05
V2 = 1/2 X 0.931 X 0.392 X 1/3 X ( 1.374 + 1.374
+ 1.679 ) = 0.27
-
V3 = 1/2 X ( 1/2 X 0.131 X 0.077 + 1/2 X 0.788
X 0.463 ) X 0.500 = 0. 05
V4 = 1/2 X 0.788 X 0.463 X 1/3 X ( 1.330 + 1.330
+ 1.634 ) 0. 26
SV 0.63 ™
N B
V1 2.000 X 1.400 X 0.108 (G1) 0.30
V2 = 2.100 X 1.500 X 0.160 (G2) = 0. 50
V3 2.000 X 1.400 X 0.107 (G3) = 0. 30
TV = 1.10 ™
8) Hfk=r 2V — kAR
SV = 111.35 + 64.15 + 10.80 + 1.96 + 10.03
+ 0.63 + 1.10 = 200.02™
B S =R, N N ]_2““]%2;_
D 285y |
M = B2 xX{ 12 X 0282 &4 0250 )X 0609
4+ 12 XL 0262 + 0250 > X 0610 } X 0750 = 012
M2 = e x4 2 XL 0170 =+ 0160 ) X 0634
4+ 12 XL 0469 + 0160 )} X 0661 } X 0750 = 008
M3 =  1/2 xX{ 0160 x 3.553 & 0160 > 3.550 > X 0600
= +-28
M4 = 1f2 xX{ 0160 x 3.555 =~ 0160 > 3.552 > X 0.600
= +-28
M = e x4 12 XL 0250 4 0262 > xX 0610
4+ 12 XL 0250 + 0262 )X 0609 } X 0750 = 012
Me = e x4 2 XL 0180 F+ 0172 > X 0630
4+ 12 XL 0460 + 0172 )} X 0609 } X 0750 = 008
V= 2.95 ™
DA AP,
%_‘IZ—{'EJ:I" 2y
31t = 1/2 XL 0262 X 3.900 & 0250 > 4003 )} -x 0600
= 155
iy
32 = 1/2 XL 0262 X 4150 = 0250 > 4053 )} X 0600
= 163
= 318 ™3
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o7 e WAS
L=

IV = 2,96 4+ 318 614 ™
8. #kfif (SD345)
- BB L Y (kg)
e A —— & #
e Al | A A
D38 229 — — 229
D32 1, 374 — —| 1,374
D29 409 — — 409
/e 1,783 — —| 1,783
D25 1,371 — —| 1,371
D22 745 — — 745
D19 852 — — 852
D16 2,711 183 179 | 3,073
/NEE 5,679 183 179 | 6,041
D13 545 99 99 743
&% 8, 236 282 278 | 8,796
9. HEEFHIKE
d 195X 1440
L = 1.440 X 18 25.920 ™
10, =27V —hgEE (CC-B)
Al = ( 0.340 + 0.354 ) X 8.372 (R F RiliE) = 5.81
A2 = 1/2 X ( 1.757 + 1.820 ) X 4.187
- 0.510 X 0.200 X 2 (% Rili) 7.28
A3 = 1/2 X ( 1.820 + 1.740 ) X 4.185 < i) 7.45
A4 = 8.372 X 1.000 (BREERITTH) 8.37
A5 = 8.372 X 2.050 — 1.000 X 1.600 X 3 (K ) 12. 36
A6 1/2 X ( 2.707 + 2.949 ) X 0.493
+ 1/2 X ( 3.416 + 3.411 ) X 0.507
+ 1/2 X ( 0.589 + 0.340 ) X 0.254
+ 1/2 X ( 1.062 + 1.000 ) X 2.080 (ARl T 5.39
AT = 1/2 X ( 2.754 + 3.003 ) X 0.494
+ 1/2 X ( 3.391 + 3.391 ) X 0.506
+ 1/2 X ( 0.589 + 0.340 ) X 0.254
+ 1/2 X ( 1.062 + 1.000 ) X 2.077 (Fifl) = 5. 40
TA= 52. 06 ™*
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KrGan

1. % T (2 h<30m

A

FER

JUNEY \

10618

W
1200 500 2550 500 1200

5600

= ( 10.618 + 4.950 + 5.576 + 2.800 + 4.212
+ 4.886 + 4.776 + 2.800 + 7.117 + 3.031

) X 5.600
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2, XPRT

ik « SEYIRRE B H > 4m
H= 1/2 (4.277 4+ 4.777) = 4.527™
Ex |=7102 500 BE& L=7107 /2 )
— ca ) — RKE
s =) t= 1/2 (0.300+0.801) = 0.551™
A oD
-  JEAR S (£ =80KN/ni)
1 = 2
S 5 f =0.551X 24.5= 13 KN/m
< SERTRRE EH < 4m
EEERE H= 1/4 (4.855+ 4.855 + 2.605
(jggo) + 2.553) = 3.717T™
3
— 818 a7 J—hE
=8 | o t= 1/4 (1.000 + 0.988 + 3.211
(& -
w2 |13 +3.250) = 2.112™
383 ==
Q18 « AR ST (f =60KN/ nt)
f =2.112X 24.5= 52 KN/m®
% () RIZRAISTE
EX t=600
HHlImEmX =
4500
T 4403) | 2= SR < Am
— (= o]
S i| —=i2 H= 1/4 (4.777 + 4.777 + 2. 527
e EE + 2.575) — 3.664™
§D T I= a7 U —ME
o O
t= 1/4 (1.000 + 0.988 + 3. 265
% () PP % 3.205) o=
B& t=600 - AR 77 (F = 60KN/ i)
f =2.115X 24.5= 52 KN/m°
« H>4m, £ <80KN/m’
vV = 1/2 X ( 4.277 + 4.777 ) X 0.500
X 1/2 X ( 7.102 + 7.107 ) = 16. 1 =3
- H< 4m, f <60KN/m"
Vi = 1/2 X { 1/2 X ( 4.855 + 2.605 ) X 4.500
+ 1/2 X ( 4.855 + 2.553 ) X 4.603 } X 0.600 = 10. 2
V2 = 1/2 X { 1/2 X ( 4777 + 2.527 ) X 4.500
+ 1/2 X ( 4.777 + 2.575 ) X 4.403 } X 0.600 = 9.8
YV = 20. 0 m3
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[EE0E R

AT 6 10000 L= 7.500 m N= 9 &K

1) =227 J— b (o ck=30N/mm2)
CIARY Y EE

V o= 1/4XxX 1.000 > X 7.500 5.89 ™3
- DR
vV = 5.89 X 9 53.01 ™7
2) & fif (SD345)
B L
(kg)
7% IR Y AR
D35 — —
D32 1,133 10, 197
D29 — —
/NEE (D32~D29) 1,133 10, 197
D25 — —
D22 — —
D19 — —
D16 236 2,124
/NEE (D25~D16) 236 2,124
D13 13 117
aat 1, 382 12, 438
wEmy I, AEEER
=3 ‘ Rk & . xH ﬁ{(iki;;%m) —K%LJi%) i%(kg) mE
FB12 x 65 1998 4 6.123 12.23 49 |wwmy VY
uURJL bk - 160 - - —  [ERELERYVT0ER
X UKL MR
BRI S o ) OB T
BE - EIICBETEIHA KIS 4 U ITHER
AR—Y—EBEEE€E
5 ‘ r & . A H i1(ﬁk§;;§m) —K%U;Ef) Ei(kg) mE
uUuRiL k - 32 - - —  |AA-#-LifE0ER
SES 30x4 80 32 0.942 0.075 2 |URLMERR
3) PUELEREUE a7 U — b (WUESHE CAESE 2 0 0. 8~1. OmF2 )
CIARY Y HE
Vo= 1/4Xzx 1.000 - X 0.800 0.63 ™
- B E
vV = 0.63 ™ X 9 5.67 ™
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4) MR

R4 B4
T
10 30 50
Bs-s 8
Bs—s =5 y=16 ¢=30 0= 0 «Eo= 14000 -
° (BEL) 2
s 2
S
Ag N=24y=18 ¢=35 C= 0 «aFEo= 32840
% Fe :t
U4 725 %60 | (&8 1)
S
Lo
~
S
X
50/29
KI-wN=47y=11 ¢= 0 (C=282 ko= 131600§
50/18 o (Ba)
N
50/22
50/17 S
KI- N=92 =19 ¢=23 (=250 «FEo=240800 R
50/14 i
(EE)
50/13
50/12
+ = — K70 EREE
BVET 4 - fsPEL - PR OWVE 1 12. 350 111. 150
e A — —
/= 1. 720 15. 480
& & 14. 070 126. 630
N EE - INME 24
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5 +T

- S A
+w
VvV —
VvV —
/S

<
|

< < & <
o HE

1/4 X &
9.70

1/4 X &
1.35

9.70
4.67

1.35
1.35

X

m3

X

m3

X

m3

m3

m3

m3

m3

1. 000

X 9

1. 000

X 9

1. 000

X 9

X 12.350

X 1.720

X ( 6.570

m3 X

- 0.800

1/ 0.9

)

(IAR%1)
(21K)

(IAR%0)
(21K)

(IAR%1)

(2=18)

(IAR%1)

(2=18)

(IAR%1)
(£1K)

87.

12.

40.

42.

12.

.70 ™3

30 m3

.35 ™3

15 m3
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FERIT (P2)
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P 2GR B A R 2R

O A1 pST- H {7 & =
AT | BT m” 3.0
$#Lavyy-p =100 o ck=18N/mn* | m® (m? 52.4 (5.2
SHX AT R m” 172.3
A e U 62. 7
YRy ) —b o ck=24N/mn’ m’ 241.7
& W D35 SD345 kg 11,946 (132) | Q PNIFH A JEHEE FTE
D32 " I 1,936
D29 Ui i —
/B (D32~29) i 1,936
D25 Ui i —
D22 /) /] —
D19 " i 10, 404
D16 " I 851
/e (D25~16) U 11, 255
D13 /) /] —
=i U 25,137 (132) | Q PIF U A JEHE & FTAK
B E | 210X 1065 m 12. 78
x| BT Pt e #Hm® 284
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AETIRIK « ~THEK

- 9L Co

- EhR

9200

5700

9000

5500

h=1900

_30_




=2

7800

1000

5800

1000

0L66

00001

7800

5800

1000

1000

%€ | %€

000¢
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- BEaVI)—F

FmE
7800
1100 2800 2800 1100
1300 1400 1300
o 1o 8) 30 140 13p o 11k 89
75 750 27h I 475 750 27h
= = o[ [ Tz ¥ = ™
g|*® a2l ”
= & i B0 H8 :‘1‘ & \Y o4 o =18
- =18 r%’ﬂ |/ G| = '%/‘ (g 2
8| lalgle A 7 g 97818 |8 B Y gz |8
b} S [© [ ] %1:: 6??’(‘? = = rl‘/ el |2 = @b -l
(=] < < . \,’ \,' [=]
" 0 = | S H © gt | ey el
Sl e @ -
g Ha H4 LEVEL
B AR EfAAM
2000 1400 (1300
1000 1000 o 140 13
155 680 qes ®Pr0 1000 7
23 LYtk (1055 £ 75105 BEaLHY—b
B \ Fﬂ g - i
e |
f; N IQ L) L]
: TT Ty 1|
— —_— Ly e — w
1L 1

!

HBIBELSR JG&‘B @210
350 [%%%350

HEx

1006°%0 ¥ () NEUERG - G3FFE.

d$0 4o sEEILEIL

o
19l 1400
(1300)

G1 G2 G3
BEaY)—

FHH 89 155 93

H 80 145 84

H1 94 160 98

H2 94 160 98

H3 94 160 98

H4 94 160 98

H5 94 160 98

H6 94 160 98

H7 80 145 84

H8 80 145 84
BES 30.324 30.324 30. 324
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ORIR T B35
1. ¥ LRI

A

(9.200 + 5.700 ) X 0.100 X 2

2. L7 U—Fhk (t=100) % ¢ ck=18N/mm"

A
(Vv

3. HRIARAUKE

9.200 X 5.700
52.44 ™2 % 0.100

R BUIREL
Al = ( 9.000 + 5.500 ) X 1.900 X 2
A2 = 5.800 X 9.970 X 2
A4 = ( 1.300 + 0.900 ) X 0.089 X 2
A5 = ( 1.400 + 1.000 ) X 0.155 X 2
A6 = ( 1.300 + 0.900 ) X 0.093 X 2
- IR
A = 1/2X 2,000 XzxX 9.970 X 2

+ 1/2 X 1/2 X 2.000 Xz X 0.030 X 2

4, Wik = 27 U — b (o ck=24N/mm®)

V1
V2

V3

V4

Vb
V6

9.000 X 5.500 X 1.900
5.800 X 9.970 X 2.000
+ 1/2 X 2.000 X 0.030 X 5.800
1/2 X 1/4 X 2.0002X7'c>< 9.970 X 2

2
+1/2 X 1/2 X 1/4 X 2.000 XX 0.030 X2 (1 )=

1.300 X 0.900 X 0.089
1.400 X 1.000 X 0.155
1.300 X 0.900 X 0.093

= 2.98 ™2

= 52. 44 ™2

— 5. 24 ™
(JEhR) = 55. 10
() = 115. 65
(BFECOG1) = 0.39
(BFECOG2) = 0. 74
(BFECOG3) = 0.41

SA = 172. 29 ™2

(fE) = 62. 74 ™2
(B ) = 94. 05
() = 115.83
31. 37
(BEECOGL) = 0.10
(BEECOG2) = 0.22
(BEECOG3) = 0.11

SV = 241.68™
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5. &k % (SD345)

% O P A JEREGE T

- B &0 (kg)
£ A K
D35 11,946 (132)
D32 1, 936
D29 —
/1Nt (D32~D29) 1,936
D25 —
D22 —
D19 10, 404
D16 851
/1EF (D25~D16) 11, 255
D13 —
it 25,137 (132)
6. PEERHIR
$210X1065
L = 1.065 X 12

12.780 ™
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KrGan

YT (HALE )
FEE
10000
I
§ (
<
I
-
TR
1200, 2000 1200
400 90
| —H

10000

A = ( 10.000 + 4.200 ) X 10.000
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EEXTT BESKHE

T FE & Bl AHRI - BiE B | B = =

At RE | m3 | 944.3

A EE b m3 | 726.6

At WA 1 m3 | 290.4

A25| Z L2 U S G S o m3 | 944.3

AT — MRE m2 | 422.1

AT — MiE m2 | 422.1

TR — MLy t 0. 055

A2 - P2 T b, AfEIE m3 57.5

ST IRAE -4, BrEIEk m3 | 408.7

A, CrElE m3 | 109.7

BB L +#p m3 | 297.9

4, AREIE m3 | 175.1

- TAb, B m3 | 250.5

P2EX LT A0, CHEIR m3 | 382.7

e, CREl m3 58.9

HEL b m3 | 540.5
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[P2 - A25E ]
(1) A25| =885
1) Bt FE
+Hb
Vi = 34.548 m2 / 2 X 9.807 m = 169.406 m3
V2 = ( 34.548 m2 + 37.464 m2 ) / 2 X 5.705 m
= 205.414 m3
V3 = ( 37.464 m2 + 7.602 m2 ) / 2 X 25271 m
=  569.431 m3
>V = 169.406 m3 + 205.414 m3 + 569.431 m3 = 944.252 m3 944.3  m3
©30. 45
29.813°\: 7.y
)
27.75
A=T7. 602m2

L | H=32 912

2) WAL PUBHI T (REZHEY)

+ab

vV = 726.6 m3

3) ~et

R

V = 944.252 m3 - 726. 6

4) Bt WE

+a

V. = 944.252 m3

0.9

m3 X

_38_

V32.83

|'V32.83
‘ W
L&
v27.75
A=34. 548m2
726. 6 m3
290. 4 m3
944. 3 m3




5) AT — MRE

Al = 10620 m / 2 X 9.807 m = 52.075 m2
A2 = 10.620 m2 X 5,705 m = 60. 587 m2
A3 = ( 15.633 m + 8.271 m ) / 2 X 25.892 m
309. 461 m2
XA = 52.075 m2 + 60.587 m2 + 309.461 m2 = 422.123 m2 422.1 m2

v29.s1\-_\-<°-vgo‘45{_7
5 92775
~_827;
|
’?32’783
A e
A L7
v29. 81 5l
. V21.75
& 15633 .
I
V32,83
‘ A
¥
v21.75
e 10620
6) AR — 1 ik
A = 422.123 m2 422.1  m2
7 tARI— bk A%y
W o= 422.123 m2 X 0.00037 m X  0.35  t/m3 0.055 t
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(2) LT

1) R
LT, AfFiSk
vV = 5.433 m2 X 10.577 m = 57.465 m3 57.5 m3
10, B
V = 38.642 m2 X 10.577 m = 408.716 m3 408.7 m3
oAb, e
Vv = 10.374 m2 X 10.577 m = 109.726 m3 109.7  m3
\ O =5,
il | e e
‘ Wzmz o
? /\ o
A=10. 374m2 —
2) BRL
B
Vi = 44.064 m2 X 1.088 m = 47.942 m3
V2 = 23.558 m2 X 8.200 m = 193.176 m3
V3 = 44.064 m2 X 1.288 m = 56.754 m3
XV = 47.942 m3 + 193.176 m3 + 56.754 m3 = 297.872 m3 297.9 m3
A2
8
VL T ) 7 s
I~
A=23.558m2 A=44.064m2 8 ™
o~ O
oo ©
- O
I il O
N
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(3) P2fe%tT

1) ERiE
R, AREIK
V = 15.632

D, BRElk
V = 22.368

b, CHER
vV = 34.173

m2 X

m2 X

m2 X

m2 X

m3

m3

m3

S e g

O
A=22. 368m2
wmﬁ’,\é 7
N A=34.173m2
NN
A=5. 262m2
2) BEL
ERT
VI = 68.354 m2 X
V2 = 43.346 m2 X
V3 = 68.354 m2 X
SV = 75189 m3 +
/ A=43. 346m2
/
2

F

11200

+

m3

m3

m3

m3 =

A=68. 354m2

540. 493 m3

1100 9000 110
11200

m3

m3

m3

m3

m3
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=R ERERE B B (A2FH)

TR THEE
4 i B R & & |HEE|BMEEl 8 & fii %
(m) (kg/m) | (kg/A%) (kg)
[ ! (1E% H) [H400X400X13X21 7.562 2 200 1512.40| 3,025 SS400
[ ! (1E% H) [H400X400X13X21 10. 370 3 200 2074.00| 6,222 SS400
R FT (1B H) |H400X400X13X21 2. 000 1 200  400. 00 400 $S400
R FT (1B H) |H400X400X13X21 2. 400 2 200 480.00 960 $S400
R FT (1B% H) |H400X400X13X21 2. 900 1 200 580.00 580 $S400
R FT (1B H) |H400X400X13X21 3. 900 1 200  780.00 780 $S400
1B H M a5 11,967 kg
[ ! (2B% H) [H400X400X13X21 7.562 2 200 1512.40| 3,025 $S400
I ! (2B% H) [H400X400X13X21 10. 370 3 200 2074.00| 6,222 $S400
R FT (2B% H) |H400X400X13X21 2. 000 1 200  400. 00 400 $S400
R FT (2B% H) |H400X400X13X21 2. 400 2 200 480.00 960 $S400
R FT (2B% H) |H400X400X13X21 2. 900 1 200 580.00 580 $S400
BT (2B% H) |H400X400X13X21 3. 900 1 200  780.00 780 $S400
2Bt B =M AEE 11,967 kg
[ ! (3E% H) [H400X400X13X21 7.562 2 200 1512.40| 3,025 $S400
[ (3E% H) [H400X400X13X21 10. 370 3 200 2074.00| 6,222 $S400
R FT (3B% H) |H400X400X13X21 2. 000 1 200  400. 00 400 $S400
R FT (3B% H) |H400X400X13X21 2. 400 2 200  480.00 960 $S400
R FT (3B% H) |H400X400X13X21 2. 900 1 200 580.00 580 $S400
R FT (3B% H) |H400X400X13X21 3. 900 1 200  780.00 780 $S400
3Bt H =M AEN 11,967 kg
FHkR AT 35,901 kg
AT (A)  FEFA X 22% 7,898 kg
BIES (B) =36 X 4% 1,436 kg
IR (A) ~ (B) A#F 9,334 kg
A KA R 45,235 kg
PR AR Sp-47 12. 500 96| 76.100| 951.25| 91,320 SY295
RERR A RARA SP—47#4 12. 500 2| 76.100] 951.25| 1,903 SY295
RERR I RARB SP—47# 12. 500 2|  76.100] 951.25| 1,903 SY295
R AT 95,126 kg
A 140,361 ke
D RIETM AL, FEEHMEREX0.220EE 35,

1£2)
7£3)

B BIL, A E & X0. 04DME & T 5,
VX X EMELETAMAIE, 0.nEELIWEESET S,
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ERIMEFTHARE (A2FEH)

HE X5 BRNME | FTA KR (m) [ A%k
ohG el J\F‘ 2>
BEE Y WE L b 11 5 62l 100
(Bs—c)
TV MEY EE T
TARED BYE T 44 6.38| 100
(Ag)
FIIAREE (m) 12. 00
R4_B-4
H=31.93m
2
+32.700 | [T e 7w+
F\_i;.jj: i0 30 50 - i e
::-;,\_J_‘}r_ ________ +_:
|
~ i :
Bs-¢c © | :
Lo I |
______ ‘—————————'F‘*I
28 B RRIE :\
[ v+17.160 =l 1
7 O (€524 4! e ™ B . PO Y N e I W= T e T|’_':
| |
44 3R E MR Lt
B=== ;‘24—1:960:::555:% I
3 L i
Ag o l b Lo
S R RN
| | | | | |
| | | | | |
] | | | | |
| | | | | |
! | | | | |
150/29 | [ | ar
il | | | |
| | | | |
—Kt=w A N A
50/18 | | Lo
[
50/17
Kl 50/14
50/13
_150/12
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= REFRE e RERAEE) (P2AR)

TR THEER
4 i oK K & ¥R | BT E|EMERE O & i &
(m) (kg/m) | (kg/A%) (kg)
Mg (1B¢H) [H400X400X13X21 6. 460 2 200| 1292.00| 2,584 $S400
Mg (1B¢H) [H400X400X13X21 10. 860 2 200| 2172.00| 4,344 $S400
BE T (1B¢H) [H400X400X13X21 3. 000 4 200  600.00| 2,400 $S400
BE T (1Bt H) [H400X400X13X21 1. 500 4 200 300.00| 1,200 $S400
1B H EHM G5 10,528 kg
Mg (2Bt H) |H350X350X12X19 5. 860 4 150 879.00| 3,516 $S400
Mg (2Bt H) |H350X350X12X19 10. 860 4 150 1629.00| 6,516 $S400
BE T (2Bt H) |H350X350X12X19 2. 200 4 150 330.00] 1,320 $S400
2B M AEE 11,352 kg
Mg (3Bt H) [H400X400X13X21 6. 460 2 200| 1292.00| 2,584 $S400
Mg (3Bt H) [H400X400X13X21 10. 860 2 200| 2172.00| 4,344 $S400
BE T (3Bt H) [H400X400X13X21 2. 500 4 200 500.00| 2,000 $S400
3B B EHHMAE 8,928 kg
Mg (4B H) |H350X350X12X19 5. 860 4 150 879.00| 3,516 $S400
Mg (4Bt H) |H350X350X12X19 10. 860 4 150 1629.00| 6,516 $S400
BE T (4Bt H) |H350X350X12X19 2. 200 4 150 330.00] 1,320 $S400
ABEE EHMAEE 11,352 kg
EHk A dt 42,160 ke
BIEES (A) =5 X 22% 9,275 kg
BIEAS (B) =56 X 4% 1,686 kg
mlBA (A) ~ (B) & 10,961 kg
AR AR 53,121 ke
PR AR Sp—47# 14. 000 90 76.100| 1065.40| 95, 886 SY295
N SP-C4a—}- 14. 000 4] 76.000[ 1064.00| 4,256 SY295
HRIAFE 100, 142 ke
A #t 153,263 kg
D RIETM AL, FEEHMEREX0.220EE 35,
E2) BIRAMBIX, FEAMEE X0.04DfE & T 5,
E3) Vv X2 MELETHEASTIE, 0.mEE LS| WERS LT D,
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=RIMEFTHARE (P2REHR)

HiE X 7y BRNE | FTIAR (m) | A%
Ve YN
R D RYE T L B _ 0.72| o4
(Bs—c)
VIV NMED S+
EARY BYE + 26 8.67| 94
(Ag) _
EYb v b _
(Kl 0.12| 94
TV ha - WA
(K1) 150 4. 00 94
FIIAREF (m) 13.51
R4 5-3
=28 12,
== =m
i | i
TR
1020 &0  — H L 1] VM
+H—0—00- H--— - T +
== ™ | e ¢ tn I Bs_c
™= : prp—— o g— — = | —— | :
g l R I
= A : i :
3 4 I e 1ot !
: I e 1
5 I ———— it ——— 1
y | TN
Bl S il Mg
O " ——r——r— I
2D co . T =
IF e 31
p 42 ! e 1
| nme |
¥3 I e s T
(] = S (—— - [
Nl T I 1
I - I K
[\ 50722 : ¥ i + : =W
o] [t
- / | ]
| 1
a 50;1% ! ! K|
L {50/10 | |
| 1
L1 50/10 L a8
50/12
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